4.4.3.| Consider a slightly damped yibrating string that satisfies
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(a) Briefly explain why 3 > 0.

*(b) Determine the solution (by separation of variables) that satisfies the boundary
conditions

u(0,¢t) =0 and wu(L,t)=0

and the initial conditions

u(z,0) = f(z) and i,())—l;(.r.()) = g(x).

You can assume that this frictional coefficient 3 is relatively small (8% < 47>
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4.4.3.| Consider a slightly damped vibrating string that satisfies

9%u . 9%u du
W+ =1o—= — B+
Pz = 0922 ~ o
(a) Briefly explain why 3 > 0.

*(b) Determine the solution (by separation of variables) that satisfies the boundary
conditions
w(0,t) =0 and wu(L.t)=0

and the initial conditions
du R E—

P (z,0) = g(z).

u(z,0) = f(z) and

r . . . v . . . r 2 2
You can assume that this frictional coefficient 3 is relatively small (3° < 47~
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